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𝑆𝑚𝑉𝑠𝑎𝑛𝑚𝑎𝑥𝑉𝑚𝑎𝑥
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•

𝐶𝑑0 = 𝐶𝑑𝑆𝑤𝑒𝑡 𝑆𝑤𝑒𝑡𝑆 = 0.0223
𝑒 = 1.78 1 − 0.0045𝐴𝑅0.68 − 0.64 ≅ 0.9

𝐶𝑑 = 𝐶𝑑0 + 0.0644𝐶𝑙2
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: 𝐄𝐦𝐚𝐱 = 𝟏𝟑. 𝟐 𝑬(𝐄 𝐂𝐥)𝐦𝐚𝐱 = 𝟏𝟏. 𝟒
𝑽 [𝒎/𝒔]
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• 𝐸𝑚𝑎𝑥
• (𝐸 𝐶𝑙)𝑚𝑎𝑥𝐄𝐦𝐚𝐱 = 𝟏𝟑. 𝟐 𝑬(𝐄 𝐂𝐥)𝐦𝐚𝐱 = 𝟏𝟏. 𝟒

𝐕𝐝[𝐟𝐭/𝐦𝐢𝐧]𝛄 [°]
𝑉𝑎𝑓𝑓100 = 371.19𝑚/𝑠𝑉𝑎𝑓𝑓70 = 197.67𝑚/𝑠

(𝐸 𝐶𝑙)𝑚𝑎𝑥= 𝐸𝑡𝑚𝑎𝑥
𝑉𝑠70 = 22.63𝑚/𝑠 ≅ 81.5𝑘𝑚/ℎ
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dell’elica𝑇𝑑𝑖𝑠𝑝 = 𝑃𝑑𝑖𝑠𝑝𝑉

𝐄𝐦𝐚𝐱 = 𝟏𝟑. 𝟐 𝑬(𝐄 𝐂𝐥)𝐦𝐚𝐱 = 𝟏𝟏. 𝟒
𝐓 𝐤𝐍

∆𝑇𝑚𝑎𝑥
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(E Cl)max𝐄𝐦𝐚𝐱 = 𝟏𝟑. 𝟐 𝑬(𝐄 𝐂𝐥)𝐦𝐚𝐱 = 𝟏𝟏. 𝟒
𝐏 𝐤𝑾

∆𝑃𝑚𝑎𝑥

𝑉max 𝑜𝑟𝑖𝑧𝑧 ≅ 84 𝑚/𝑠 ≅ 302𝑘𝑚/ℎ
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𝐭 [𝐬] 𝐕𝐯 [𝐦/𝐬] 𝐑𝐬𝐝 [𝐦] Φ 𝐬𝐭 [°] 𝐧

𝑃𝑛 = 12 𝜌𝑆𝐶𝑑𝑠𝑡𝑎𝑙𝑙𝑜𝑉𝑣3 = 𝑃𝑑 𝑉𝑣 n = 𝑉𝑣2𝜌𝑆𝐶𝑙𝑠𝑡𝑎𝑙𝑙𝑜2𝑊
𝑉𝑠𝑣 = 2𝑛𝑚𝑎𝑥𝑊𝜌𝑆𝐶𝑙𝑠𝑡𝑎𝑙𝑙𝑜 𝑃n = 12𝜌𝑆𝐶𝑑𝑠𝑡𝑎𝑙𝑙𝑜𝑉𝑠𝑣2 confronto con 𝑃𝑑

𝑠𝑒 𝑃n > 𝑃𝑑:
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𝐧𝐦𝐚𝐱 𝐕𝐬𝐯 𝐏𝐧[𝐤𝐖] 𝐕𝐯[𝐦/𝐬] 𝐧 Φ 𝐬𝐭[°] 𝐑𝐬𝐭[𝐦] 𝐭 [𝐬]
• 𝑃𝑑𝑖𝑠𝑝 = 1068.68𝑘𝑊
• 𝑛𝑚𝑎𝑥 = 6

𝑉𝑣𝑠𝑡 ≅ 259 𝑘𝑚/ℎ 𝑡𝑣 = 17.18𝑠
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• ∆P𝑚𝑎𝑥 (E Cl)max
• ∆𝑇𝑚𝑎𝑥𝑺𝒕𝒂𝒍𝒍𝒐 (𝒓𝒊𝒑𝒊𝒅𝒂 ) (𝑬 𝑪𝒍)𝒎𝒂𝒙 (𝒓𝒂𝒑𝒊𝒅𝒂)

all’AOC

𝑅𝑂𝐶𝑚𝑎𝑥 = 2626𝑓𝑡/𝑚𝑖𝑛
•

•
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• all’Italia)
•

• l’utilizzo
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https://aviation.stackexchange.com/questions/72478/what-are-l-d-ratio-of-famous-wwii-fighters
https://aergistal.github.io/il2/planes/spitfiremkixe.html
http://dma.ing.uniroma1.it/users/meccvolo_c1/parte_1.pdf
https://www.aeronautica.difesa.it/2023/05/26/spitfire-v-ix/
http://wpage.unina.it/fabrnico/DIDATTICA/MV_PREST/CORSO_2018/SLIDES_2018/CAP8_Salita.pdf
http://wpage.unina.it/fabrnico/DIDATTICA/PGV_2012/MECC_VOLO/PPT/MV_7_Virata.pdf
https://www.scalewings.com/sw-51-mustang/

